%5 : Th o

=l

TR
T THOT 94 : 50
Currency And Infalation TROT T ¢ 100

M

)

&)

“)

)

(6)

(7

®

T

TR TAYRAHhd 50 AT o MEd. IRGARET WYl I fSTRvarT gHard wvargdr At
THYRahd Td U9 STRd FhaT ATEId ATE Wl e SATd. 3TT d9 377 el Y MESeaT &
THYRART TAAETHRIhgT HoId qqGT ATl

MYST IRAETT-SHHh T hTT STHu= (el
T TR T THST 4 AT 3AY AT SRIT AT 1, 2, 3 M7 4 31 AT o5
ATed. T IR IAXTD! TaTd AT IR HHTeh SARATARANS FAIHATIT JASAT JTRATAHAR TS
HRIET. T2 YR JTRABNHAY IAHH D TG HRAT df HATId THHRHABRIAR B e

o (o o o o\ (o =
<RldAl Sllge) dl] nloosll G llsnIxdl thth chloHl Rllgd dlmYU- dIHURI4.

ST [IATETST WRIST SR FUS qraw [fed Foo AR, 3 v v&® Wiy aRer s gusir
NYIIEIS BT ST 3R, ATTHG FUSHIG [haT ARISIA AT quIaiviges STyaEr 3
FRUTMS fardr FHtoT grear=t 37T STear, SHeaRM Saiod T it wedie Jemsht args
EEEIN

IARYEhd THal g ooy X Giedl VR ARl TG Hhores IaX WigT TN IR e o
qIS SOTR AT

T T FH 0T TR, ARAT FS TS IR AN, Db YT BIVTR ATENT ATST S87aT 93
EERRRRERIICHIE R RCIECIE L

A, T “IHGIRM TRWS TEIANT TEATAT T [Hedm IR IARIGRN Fard a7 IR
IARUTAhT THE HRIE. AT FreAT SARUMARd A IS TA® Jhr<aT IAIT! Th o raism
TOT TSI HROATT AAS”.

TegRaeHe [Afed Shoear AR el & F &1 (% J@) R0,

E3

TRIETT-ShATH




2 AT Wb IRER

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



3 AT 6 IRAR
1) AT Y MG Hlel ¥ A3Ma I, ATUhl G Y Agdqol 3L H=arear
AT I ShiThRI Jech TSI ATIUNRT 3R, 37T 99 FoUi AigHT?
1) HHAX 2) TR
3) AfswaT 4) JgaT

There is basic and fundamental invention in all branch of knowledge. The invention of

money is one of the important invention and concept which has brought a revolutionary
change in economic life of human being. Who proposed above thought?

1) Crowther 2) Walker
3) Selligman 4) Robertson
2) SIS $3AT TSV TR IRl W2
37) IRSTAT Ga=l FAAPMET 3TH1E ) ATEIEd ST ATST FAT S
&) SO TS RO IREEE 3. ) UTHI{OTeh HTIhI=T 39T
?) Tl Rd%he HRUATd TSI
1) ®%h 3, ¥, & 2) %th & 3T S
3)A, T, H, S 4) IF Y 3Ted.
Which problems of barter system came up, which led to need of money?
a) Problem of double coincidence of wants b) Problem of storage of perishable goods.
¢) It is inconvenient to divide property d) Lack of common measure of value
e) Problem of repayment of debt.
1) Only a, b, c 2) Only c and d
3 a,b,cd 4) All are correct

3) Gl U =R =T ST I [uA Maer.
) I WG HROATH! Zhl el AT AT TSeATd AFTII0T HThd TG T RoTst
7 2, 7Y AfFHT I 99 IR,
%) TRAT ISATd ATTHITT Thd TAGHT I, F0TST 9T B, 3T e A< A 3ME.
1) Th 3T SMOT & 2) Bth &
3) Theh & STTOT & 4) 99 [ I 3mmed.

Consider following statement and choose the correct sentence/s

a) According to Walker, Money is what money does.

b) According to Seligman, Money is a thing which has purchasing power and acceptable in
general in exchange of goods.

¢) According to Robertson, Money is a thing which is acceptable at large in exchange of

goods.
1) Only a and b 2) Only c
3) Only b and ¢ 4) All statements are correct
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4) YT SHTHYR TET U FRAT 9 IR IR .

1) & 2) A

3) SR ITOT et 4) TR TR

Definition of money, given by Prof. Crowther is based on

1) Work 2) Acceptance

3) Work and acceptance 4) None of these.
5  Eoie U SR =T ST I [quA Mae.

37) TR UThie & -T2 TR 3TE.

) hiee Fle g S-UZMET TR 3MTE.

1) ®eh 37 faa= ang TR, 2) %th ¥ fIaT TIT SR,

3) Sl [T T°T 3Ted 4) =T [AaE ang e,

Consider following statement and choose the correct sentence/s

a) Digital Wallet is a type of E-Money.

b) Credit card is a type of E-Money.

1) Only a statement is correct 2) Only b statement is correct

3) Both statements are correct 4) Both statements are not correct.
6) Wole [y fa=mRrd = sufor o fauaeA Faer.

31 g oT [_AET U I qEE /i e U T,

) T 9 e ST es ATRRAT I ATal.

1) %th 37 f[Fa I 3R, 2) <h & [TUT ang TR,

3) =T e @ e, 4) I faam AT A,

Consider following statement and choose the correct sentence/s

a) Cheques and bills of exchange are known as optional money.

b) As optional money is legal tender money, it can’t be refused.

1) Only a statement is correct 2) Only b statement is correct

3) Both statements are correct 4) Both statements are not correct.
7) A ST TH. e AT A “UAT SadTehIS 0T WIS ATATAIG GaT 3e.” IRIG

IHRT WISIGUR T2 Fcs HA 2aa?
1) [ASd 2ol o= A= 2) Hed EXATAROM= AT
3) qadEmET IR 4) eI AT

According to J. M. Keynes, “Money is a link between the present and future®.
Above sentence indicates which function of money given below?

1) Standard of deferred payment 2) Transfer of value

3) Basis of credit 4) Store of value

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



5 TR W IRaR
8) U MUY A= T AETET 3T SISl 3BT,
3n T "raw - wraEe S
) Hod TR AT - TAH S
) IS IAATT AT - WIS F
©) ez aEror - urufEes =
1) ¥ 3T § 2) Bth S
3) th & 4) IF ST I 3.

Identify incorrect pair about money and its function.

a) Medium of exchange - Primary function

b) Transfer of value — Secondary function

¢) Measurement of national income - Primary function

d) Unit of account - Primary function

1) band d 2) Only d

3) Only ¢ 4) All pairs are correct.

9)  Woie U e @ anfor gvg faas/A Faer.
37) Y STWINTH B B W foheey AT gataeT 3R,
) IRTHT H MHROM 0T s7eidsheq Sl g Uz siwitres &1 31e.
1) Feh 31 foa= ang TR, 2) Wh ¥ foa T TR,
3) Sl fou I 3ed 4) ST fora™ g 9.
Consider following statement and choose the correct sentence/s
a) Prof. Kinley suggested the contingent function of money.

b) Government tax collection and preparation of budget are the contingent function of

money.
1) Only a statement is correct 2) Only b statement is correct
3) Both statements are correct 4) Both statements are not correct.

10) ST FSATER TRATAT 1T ST e, § JaaoarTel HRd ARGRA 2017 7
TeT FTHETAETST ARl _TIT ol

1) TS 357 2) NS SIS
3) TSR 3 4) Irhd AR
Government of india appointed a committee under chairmanship of to suggest what

should be the stand of India about virtual currency.
1) Subhash Garg 2) Bimal Jalan
3) Parthsarathi Shome 4) Nachiket Mor
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11) WSS faue ReRE e snfor ang faasA Faern
37) 8 AL 2016 WS TRATT ST AHAHIOT ey .
) AT RBI T TR 31T e 2.
1) Feh 37 foa ang TR, 2) h ¥ foa T TR,
3) Sl AU I smed 4) ST fora™ g 9.

Consider following statement and choose the correct sentence/s

a) India had its second demonetization on 8th November 2016.

b) At that time Urjit Patel was the governor of RBI.

1) Only a statement is correct 2) Only b statement is correct

3) Both statements are correct 4) Both statements are not correct.

12) "o Hu [T = anfer o 9y Faer.
3N Y= HATHS g FaeR TG Fiewa= S99 AT fthar I+ fod S,
) T2 HATHS RegiareT 3G g eSS Aievare 899 ethe ATRle; AT 9 .
&) FIER TBRIT FTH AT ST,
1) th 3T 3foT & 2) ®th &
3) Theh & 3TTOT & 4) I [Ty I 3med.

Consider following statement and choose the correct sentence/s

a) The credit of the transaction approach of Quantity theory of money goes to Irving Fisher.
b) The credit of the cash balance approach of Quantity theory of money goes to Alfred

Marshall.

¢) The transaction approach is considered the best.

1) Only a and b 2) Only c

3) Only b and ¢ 4) All statements are correct

13) AT fh2R & MV=PT & SIFER JHIHRUT 3R, & THIHRUT T JITd?
1) YIS YREST AEST O HERME dTed.
2) UBMMET YRST deAT a3 T2 o HHT &l
3) YA THUT ol AV THUT E9 ARG 3.
4) H F9 9IT IR 3R,

MV=PT is formula for transaction approach given by Irving Fisher. What this equation

suggests?

1) If supply of money increases , inflation occours.

2) If supply of money increases , value of money decreases.
3) Total expenditure and total sales are same in economy.
4) All options are correct.
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14) Tz R st wifgs e e g SR
1) U3 Jed R MEd AL
2) YT HHTTSTh 3NTeh HHE=AT FHT0T Brogm=m I9a 34l
3) JAFULRIER AR &l 2Tehal.
4) 1 3T 2 9T TRT 3T,

Monetary management is important for steady value of money since...

1) Value of money don’t remain stable.
2) Otherwise there is possibility that it may cause socio economic problems.
3) It may impact on investment.

4) 1 and 2 are correct.

15) TN FHATAR Fedl i @il

1) IS AT F A - S9d 397 - =16 39T - qad 39r

2) IS AT T A0 - 97g 34T - 99d 34l - Jad odl.

3) W&d 3dl - ISl el T AT - J9d 3dr - d1eg 3ar

4) ad 34T - 9T 34 - F9d 34l — FA-T Aler g A0

Arrange according to increasing potential of Credit creation.

1) Currency notes and coins — saving account - current account — Term deposits
2) Currency notes and coins — Current account — Saving account — Term deposits
3) Term deposits - Currency notes and coins — saving account — current account

4) Term deposits - current account — saving account - Currency notes and coins.

16) WSS o =R & snfer s/ang foas/A Faern
30 MO T Jehicheld RO 3T AisTedT ST ATel.
T) M0 T Refeg Tohdlley SNARTER ATOI=AT 347 HisTedT SITd ATel.
&) MO H& CRR 3TT9T SLR HISToHT ST AATal.
1) h & 3MOT & 2) Bth &
3) Wtk 3 4) 99 [Tum I e,
Consider following statement and choose the incorrect sentence/s
a) Demand deposits in bank are not calculated in MO.
b) Deposits of International Monetary Fund in Reserve bank are not calculated in MO
¢) CRR and SLR are not calculated in MO.
1) Only b and ¢ 2) Only ¢

3) Only a 4) All statements are correct
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17) 23MAI UHAT MO, M1, M2, M3 IT FehoOudT IT9S- AISTAT SITAr. AT TSROl “M” T S21adr?

1) U= TR 2) Tz qRaer

3) T oI 4) Tz At

MO, M1, M2, M3 concept is used to measure money within country. Here, what does “M”
indicate?

1) Multiplier of money 2) Supply of money

3) Value of money 4) Transaction ability of money

o . N Y

18) WGIH Uceh FocdT Jheddd IdTd o STesaT.
i) BlRiheld R W
ii) SeRET WA:STdey I AT

iii) ShT=AT RBI Ty ot

3) AT O ) S o

&) I AT =T ?) HH¥d =

1) 3T, 9, & I°T ITE. 2) 3, &, € IT e,
3) ¥, &, § INT L. 4) 1, 9, &, € IYT e,

Identify the concept in which following factors.
i) Cash with people

ii) Cash deposits by banks with itself

iii) Deposits of banks at RBI

a) Monetary base b) Reserve money

¢) High power money d) Basic money

1) a, b, ¢ are correct. 2) a, ¢, d are correct.
3) b, c, d are correct. 4) a, b, ¢, d are correct

19) "o Ay [emg = anfor o [Jum/A Faer.
3) M1 T HeheU-asl Apird IaT FEoTdTd.
) M2 AT Aeheu-oT faegd IT FEoTdTa.
1) Th 37 2) Fh &
3) Sl [T 9T TR, 4) T YU 3T 3R,

Consider following statement and choose the correct sentence/s

a) Concept of M1 is known as narrow money.

b) Concept of M2 is known as broad money.

1) Only a 2) Only b

3) Both statements are correct 4) Both statements are not correct
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20) OAT I[UTH WUTS

1) T2ITET YREST 0T qrmd T=A7 ATcdies oI 2.
2) U3MET qREeT ST AR 9T ITcdies IO 8.
3) UTATA URAT SMITOT YT YRS ATy oI &
4) T T 3nfoT T YRIST AT ONR BT,
Money multiplier means

1) Ratio of supply of money and monetary base

2) Ratio of supply of money and narrow money

3) Ratio of monetary base and supply of money

4) Ratio of narrow money and supply of money

21) Wl u =R = anfer sy fJum/A Faer
3N ITSITRT TTaTe ATTRIST IThRE 3T,
) 10% T8I ST <X ISdTe STedrd JRTONT 91S gid el
1) %th 37 2) %hh &
3) Sl [T9 I STTE. 4) ST SATOT STIRT 3TTEA.
Consider following statement and choose the correct sentence/s
a) Walking inflation is good for economy.
b) If inflation grows with rate more that 10%, it doesn’t increase demand.
1) Only a 2) Only b
3) Both statements are correct 4) Both statements are not correct

22) Thmdaree T #Ror g 3fE ufRedier $ecar daatye JisHd digs o2

1) digear 2) =T

3) fovr=a 4) =reT

In which five year plan, objective to control inflation was put forward?
1) First 2) Second

3) Third 4) Fourth

23) 3T THAUIRT 99T e
1) ATIET IS AT [RATATET RO ST
2) B AT [hAdaTeRT HRUMT 33,
3) SRISPIRIAIG € IoTaTe hRUIYd 33d.
4) 9 9T ITIH 3Ted.
Choose the option which is not correct
1) Increase in indirect taxes is responsible for rise in prices.
2) Increase in population is responsible for rise in prices.
3) Increase in unemployment is responsible for inflation.

4) All options are correct.
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24)

Aaddl IATae Hal AT o, TdFaesd o73it RIT FHioT Sed $3h ASThNT diRoT
FaTd TG BXH?

1) = 1 d1E FHL.

2) TSI G qreIuT,

3) ReTT Joh IRERT Ul STTRTe faahot,

4) 99 99T AT TR,

Continuous deflation creates recession. If such situation creates in economy, what kind of
fiscal policy would be most appropriate?

1) To increase tax rates.

2) To increase public expenditure.

3) Reserve bank should sell government securities in market.

4) All options are correct.

25) HEPMS IO SOTOITATST ShivTT HTUATET 919 el STdl?
37) HTaSie (a0 e ) AT Z[ehld HaTT
%) AT F[ehld I 3) Hitgsh RN 9.
)3, 9, K 2)d, %, S
3) 3,4, S 4) Bch & AfoT B
Which measures are used to control inflation?
a) Public distribution system b) Reduction in import duties
¢) Rise in import duties d) Changes in monetary policy.
1) a, b, c 2) b, c, d
3)a, b, d 4) Only b and d
26) FEFTEHAT HRUE $3S I THR IMR?

37) YRIST FHHT HROM HROT ) GRIST JTEIUTRT HROT

&) ATFTOT HAT HROTET HRLIT ) ARTOT STeICRT RO

1) 37 3MfoT & 2) 37 AMOT ©

3) F 0T © 4) § M7 &

Which are the two types of causes of inflation?

a) Reasons for decrease in supply b) Reasons for increase in supply
¢) Reasons for decrease in demand d) Reasons for increase in demand
1) a and c 2) a and d

3) b and d 4) b and ¢

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



11 TR W IRaR
27) YR T Wole Yaaids! ang 93y Hder.
1) e e armiare=r Teqare T 2.
2) HTISI=eh AT 91 STedTE ARTOHATOTST Jo-dTe [HHToT 2.
3) JhAT TAMMEdIT &T9dd 912 STedTd R0 dToTsT=g I&-dTe AToT gid..
4) 99 99T I 3.

As per people of India, choose the incorrect option among following options.

1) Due to increase in exports, demand pull inflation gets created.
2) Due to increase in public expenditure, demand pull inflation gets created.
3) Due to increase in credit creation capacity of banks, demand pull inflation gets created.

4) All options are correct.

28) WISIGTHRN TI T TSI H3e HIROT AATEN?

3) T T ) IRhIF AT
CORECIE] T) BIhEAT a8

1) 37 3NOT & 2) 3, § 3T &

3) 3T, § OT © 4) B<h & N7 &
Which of the following are not the reason of cost push inflation?

a) Black money b) Foreign investment

c) Betting d) increase in population
1) a and c 2) a, b and c

3)a, bandd 4) Only b and ¢

29) Wil au fe=mrg = anfer sy faum/~ Faer
37) WRTOT § qRESTET FEH SR 7 gIoT=T a¥eT, ST av % 0T,
) HeAT TSt O g2 I AT,
&) ARTUT 0T GRISUTAT TSI AT IGeAT Thodid S 985 & ATe.
1) ®h 3 2) Heh &
3) th & 4) 99 U I IR,

Consider following statement and choose the incorrect sentence/s

a) Those goods which don’t follow rules of supply and demand are known as Giffen goods.
b) Generally, Giffen goods are inferior goods.

¢) Its prices never changes according to change in demand and supply.

1) Only a 2) Only b

3) Only ¢ 4) All statements are correct.
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30) qeraT TYVROM ARG hedT ST, ATHEd ™M 991 Hael.
1) A7 Hhed=d 9T rdsT Hr AT (9 ST,
2) 3T 3TNRUT Shed T ATTRYT Toaa1e 90T 2.
3) T ISAHHAT e hhST AT HaaHT ST STl
4) GUTONATOST= T@aaTe 70T S99 Hed 2.
Deficit financing was done by government. Choose the incorrect option regarding same.

1) The economist Keynes is given the credit for this concept.

2) Due to such financing, inflation gets created in economy.

3) It is considered best option for financing if financed by printing of new currency.
4) It helps in creating demand pull inflation.

31)  TIYSTIRAT ILAT FhAAT AT a7 STRA AT YA ART0I 4 97 SR 8 319, T3,

AR FarehdT ToTdTd. ST¥ Jerl had dT1edl d¥ Sl AR 91ed, 3713 SarIshd ol

U
1) 39 ST 2) Beeh ATl
3) Thad afaehdr 4) [T8eg Faluahdl

In economy if price of product rise or fall and accordingly demand rises or fall,such
conditions are called as elasticity of demand. If prices of tea rises then demand for coffee
increases. Such elasticity known as .

1) Income elasticity 2) Cross elasticity

3) Price elasticity 4) Opposite elasticity
32) HPTOET Sal<ehdl 2 Hehe ] T HikTdo! 38,

1) 3MhE ARG 2) 5. U,

3) 3few AT 4) 3T BT

The concept of elasticity of demand was proposed by .

1) Alfred Marshall 2) .M. Keynes

3) Adam Smith 4) Ursula Hicks.

33) ST [hHdT JgHIUeT TR gl 3TAdTd MO d=igl AFTONT 9i9e 912 &id d<al AFToi=T

e Fafersdar (Ed) 3.
=1 2)=0
3) < 1 4> 1

When prices falls by half ,compared to usual prices, and still demand in quantity of product
raises 4 times, Then elasticity of demand (Ed) becomes

1) =1 2) =0

3) <1 4) > 1
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34) FoAAEd AT gedhiay AHRIAS a7 THRIAS TR gd SRIATd. Wl Jar argq
3T g [Rger.
1) 3dHTTER TSI HHRIHS TR Bl
2) TIATIR TATATEET ThRIHS YIROTH Bl
3) SRUTRIGR TATdTel=T FhRIHE TROT grdr.

4) YThHIaR TSI HHRIAS TR glal.

There are positive and negative effects of inflation choose the incorrect option accordingly.

1) Inflation has positive effects on farmers.
2) Inflation has negative effects on savings.
3) Inflation has positive effects on debtor.

4) Inflation has positive effects on creditor.

35) TGTATE e HOAT TTHIAR ARRIHS RO Brdr?

3) oI &) g

%) I=MIRS ®) sPTR [T

1) 31, § 30T & 2) 371 3foT &

3) 3, & AT © 4) I 3MOT ©

Due to inflation which factors get negatively affected?

a) Savings b) Investment

¢) Pensioner d) Employment generation
1) a, b and ¢ 2) a and ¢

3)a, candd 4) a and d

36) dBTIC JGUITHATST URBR FHOh IUTT HId?

3) Y WA HUTT ) T AT

&) FHORRATHT AIAYT EE] ¥) AT 912

1) 31, F 30T & 2) 3, & AT ©

3) Thth 3F 10T © 4) F, F AT
Which measures do government take to control deflation?

a) reduction in tax rates b) promotion to exports
¢) premature purchase of debt bonds d) increase in grants.

1) a, b and ¢ 2) a, cand d

3) Only a and d 4) a, b and d
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37) RBI o URIT JdIUhIHeS BUTRT TS-IdaTe IGUATHATST 2004 AT B ST g Hosl.

1) ISR AT FistT 2) STSTR SMadT AT
3) dISIR “-IISQC";\IQNUI RIS G 4) HERT YHT IT<TAT.
In order to control inflation due to foreign investment, RBI started _ scheme, in 2004.
1) Market stabilization scheme 2) Market sustainability scheme
3) Market capitalization scheme 4) Dear money scheme.
38) WEATE MIAUT FHIcAT SUTATHTGT s SIT?
3n) ¥ar ) I T IR
&) IS T B) ARSI A0 = Fat
1) 3,  for & 2) 3, & AMOT §
3) Whth 37 3MMOT § 4) 31, T 3AMOT ©
By which measures inflation can be controlled?
a) Repo b) Statutory liquidity ratio
¢) Reverse repo d) loan from International Monetary Fund
1) a, b and c 2) a, c and d
3) Only a and d 4) a, b and d

39) W U [S=RIT =T ST 3y a4 Fasr.
3) T [hAd MoTienTd Heh aeceal fhHdl AlSTedT shadl STl
) U fohad FeaTia e ST fhadr AisTedT el ST,
1) %h<h 3T 2) %th
3) 37 3MOT T <2l 4) Tehal I ATEY.
Consider following statement and choose the incorrect sentence/s
a) Only prices of goods are calculated in wholesale price index.
b) Only prices of services are calculated in consumer price index.
1) Only a 2) Only b
3) Both a and b 4) None is correct

40) WIS faae =R = snfor s/ a4 Faer
37) 2010 URIH, TS [hAd HazNhTTer SITHISTd T HrvTeren RIdRREias- 2004-05 &
ATIRYT I A I,
) 2017 , T3 [had FeTerTsT JTHT =<l HrasTereaT BrwaieasT 2011-12 &
IR I A I
1) %h 3T 2) Bh &
3) 37 AT & Srar 4) TehRgl ATET.
Consider following statement and choose the incorrect sentence/s
a) Since 2010, on recommendation of Abhijit Sen Task force, 2004-05 is considered base
year for wholesale price index.
b) Since 2017, on recommendation of Saumitra Chaudhary Task force, 2011-12 is considered
base year for wholesale price index.
1) Only a 2) Only b
3) Both a and b 4) None
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41) 'WPI 31T CPI HISTAMT YR TS BEECRSIGH
nHo 2) 1
3) 100 4) 1000
While calculating WPI and CPI base year is considered as .
nHo 2) 1
3) 100 4) 1000

42) TSSO 913 fhAd Maziies ASTAMT $ocar gehiar fhadt [T gder stard?

31) wrufHe avq ) I T AT

%) AR IAfOT HPTE ST 9 IdIed 9, §) Hd Iclfad I

1) 3, § 3MOT © 2) 37T 3T &

3) T, H 4) Bth &

Which commodities are considered while calculating headline wholesale price index?
a) Primary products b) Fuel and energy

c¢) All manufactured product except sugar and paper d) All manufactured products

1) a, band d 2) a and ¢

3 a, b,c 4) Only ¢

43)  3IGRT g Haer.
1) 9T fohra fczries HierarT axd=a fhadiae sTiceT SR 9T sl STdl.
2) AT fhwa azTie Histamr avd=ar e sfadT 7T Hrear ST,
3) MIRATT 9137k TohAd ezl RBI EIRT HISTAT STl
4) IS T I 3R

Choose the incorrect option.

1) While calculating Wholesale Price Index, Indirect tax is subtracted from price of goods.
2) While calculating Wholesale Price Index, geometric mean of prices is calculated.
3) In India, RBI calculates Wholesale Price Index.

4) All options are correct.

44) TTEH [FAT RSz FISTAMT HOT Tehion Haitde YRIz 3T8?

1) ] T 9 2) U T TR

3) SIS T UTSToT 4) TR

Which factor has highest weightage while calculating Consumer Price Index?
1) Food and beverages. 2) Fuel and light

3) Cloth and footwear 4) House.
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45) 2015 YRIT UTe fhwd Mz 2 ATIRYd Y A ST

1) 2011 2) 2012
3) 2013 4) 2014
Since 2015, year _ is considered as base year for Consumer Price Index.
1) 2011 2) 2012
3) 2013 4) 2014

46) 1970 AT 2THIA TRATT Y€€ HENMS ATE Blal. ATEed ol 3nfor =T 99 Se7d =,
TR e e
) 1971 - TSGR [AH &
) 1972 - WY DHAG THHIS
&) 1973 - AT Hhe
1) %eh 3T 2) Bh &

3) Tith & 4) Uhal T8l

In 1970s, a huge inflation condition appeared in India. In that reference, consider the

reasons and their years. Choose the incorrect pair.

a) 1971 — War of Bangladesh independence

b) 1972 - drought in kharif season

¢) 1973 — crisis of oil

1) Only a 2) Only b
3) Only c 4) None.

47)  2014-15 SR IRAT TR Al IRl ST, ATITST R IRBRA o5 3UTT e
3T) AOT JiedTd faedm Som=ar AsRia a1e
ENEEIERERIRIE TS

%) STEEATT AT

1) 3T 37T & 2) 3 SAMOT §

3) th & 4) 37, F AMOT &

After 2014-15 , prices came down in Indian market. Which measures did Indian government
took?

a) Increase in wages given under MGNREGA.

b) Merger of banks.

c) Investment in housing.

1) a and c 2) a and b
3) Only ¢ 4) a, b and c
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48) FoodT YIS Al fhadT Tad SHr ST gfar?

1) gfgedr 2) =T

3) fora= 4) =T

In which five year plan, prices actually came down continuously?
1) First 2) Second

3) Third 4) Fourth

49) G [TUT B &1 ST 3@ {9y A e
3) IATSTAR, TRATT HaITash HEPS e% (25.2%) 9Y 1974 T glal.
) 9Y 1991 A, HEFTS X 13.7% 94 gl
1) %eh 37 2) Bh &
3) 37 30T & Sl 4) 31 3nfoT 9 =l ATal.

Consider the following sentences and choose the incorrect sentence/s.

a) Till now, highest inflation rate (25.2%) in India is observed in year 1974.
b) In year 1991, inflation was observed upto 13.7%.

1) Only a 2) Only b

3) Both a and b 4) Neither a nor b

50) T S TOHTEIET STRAT HISTTIIATST GDP HE W TEuTE! U I 4 AT IoTae
BT S d) AT Rdier AT
1) IER9T 2) Har
3) 3Tafhdl 4) T TR
If GDP falls at medium rate for more than two quarters in succession and deflation prevails,
then such situation is known as
1) Recession 2) Depression
3) Deflation 4) None of these
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